Assembly Instruction

Note:
1.Should be assembled on flat ground to keep balance.
2.Before completing the installation, do not tinghten the screws.

™

You must be need
two people to install !'!

/N

Before starting the
assenbly, you must
read the whole
manual and follow
the instructions

SKU:WF308894

SKU:WF309336
Page 1/12




Z1/z ebed

uononJsu| Ajguassy



Assembly Instruction

Hardware Parts

o OID | © O @ @ o)
X1

18mm M8 Bolt x 20| 25mm M8 Bolt x 18 | 40mm M8 Bolt x 18 50mm M8 Bolt x 5 60mm M8 Bolt x 2 Flat washer x 6

® o

&
é =

X 1 X1 X 1

000000
000000
000000
000000

QX‘_ |

[ Unplug the battery separator of the remote control before use |

Page 3/12




¥ X )09 gIN WwQs

b X Jeu§f\ jeld

Zl/y ebed

Z X}jog gIN wwgg

uononJisu| AJquassy



¢l X}jog gIN wwgl

Z1/G ebed

9 X }jog 8N Wwot

uononJIsu| Ajguassy



21/9 abed

uolnonJisu| Ajguassy



¢ X1jod g\ ww9

Z X Jeu§/\ 1eld

21/, ebed

¥ X 1109 8N WWwGg

uononJsu| Ajgwassy



¥ X }10g 8IN wwgGg

Z1/8 abed

L X1l0g 8N WwQg

¥ X 1109 8IN wwgl

uononJsu| Ajlquessy



2\l /6 abed

uononsu|] Ajquassy



Assembly Instruction

20

\
ﬁe& Pull out

Light bar andunfold | ght bar

1.0ne side of the light bar is
the luminous surface, and the

other side is the velcro tape
A.

2.There are corresponding
velcro tape B under the bed

side and under the bed taill,
which can be firmly bonded

Please fit the light belt to the
bottom of the bed side

come through the hole Page 10/12




Assembly Instruction

-
1 |-

Please string
the thread

to the elastic
band

Please attach the infrared
receiver to the elastic bag

Page 11/12




uononJisu| Ajguassy



